4 3 <l 2 [
REVISIONS
REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
08 — | 05/2005 = - UPDATED CODE REF., SPECIFIED OPTIONAL ACRYLIC.

HORIZONTAL TRACK END HANGER BRACKET (SUPPLIED = = -

BY DODR INSTALLER) CLOSES ROLLER CHANNEL. - e i 102006 SOCED FALLER JRTION

INTERMEDIATE HANGER REQUIRED FOR DOORS IF UP T0O 12'-2" WIDE X 18'-0" HIGH 10 - | 11/2008 - - ADDED MPC; UPDATED JAMB ATTACHMENTS.

BAoTY) BF-THE DA 11 — [o02/2012 - = UPDATED WINDCODE CHART

D T A R 12 — [ o08/2012 - - REVISED FOR TDI
T e M AVAILAB PAY/ HOLMES/ | 13 — | 06/2013 = = REMOVED ACRYLIC/WIRE GLAZING. SPECIFIED FV DIMENSIONS.
FOLLOW-THE ~ROOF TRAGK \\‘//\\//\\//\\// HNON-INSULATED MODELS: 14 - | o8/2018 - = REMOVED WIND SPEED TABLE
: v MODELS 525, 524, 520/ 225, 224/ CSEST, C5ST, C4ST, COST :

AND VERTICAL LIFT TRACK
ARE AVAILABLE OPTIONS.

(O]

3" TRACK ALSO AVAILABLE.

1L
1t

NONNNNNR

1l JI,r

-

GALV STEEL TRACK <
SECTIONS-
HORIZONTAL - 14 GA HIN

L LALWANIZED STEEL

WINYL BACKED INSU%T[QN MODELS:
MODELS 525V, 5z24V/ — CHESY, CSSV, C45v

INSULATED W,/ STEEL BACKER MODELS

MODELS 5255, 524S, 5205/ 2255, 224S/ C5ESS, C5SS, C4SS, COSS

REGIONS (REF. CHAPTER 16 FBC/IBC)

THE OPTIONAL GLAZING SHOWN OM THIS DRAWING MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE

OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS

SECTIONS ARE 1-7/8" THK PANELS ROLL
FORMED OF 019" MIN. HOT DIPPED
CALWANIZING, ROLL FORMED STEEL.

ADJUSTABLE TOP ROLLER BRACKET
OF 12 GA. GALY. STEEL, INSTALLED
ON DOOR WITH (42 HI4 X 5/8" LG

Li“aﬁ'icifqm?fa MIN MUMBER OF NMUMBER DF SHEET METAL SCREWS
T STILES
N VERTICAL TRACK CAN BE uP 10 8-0 4 i v STEEL U-—

C EITHER BRACKET MOUNT, oo el el > L VI ! ONE. USBAR PER DOOR SECTION, e
OPENING CONTINUOUS ANGLE OR i Ll s S 9'-3 THRU 12'-2~ 2 ) EXCEPT THERE ARE TWO U-BARS ON
HEIGHT REVERSE ANGLE TRACK, e e 4 THE BOTTOM SECTION. U-BARS

ALL TRACK BRACKETS AND 14°-3" THRU 16°-0" 8 B
| TRACK CLIPS ARE 12 GA. 16°-3" THRU 18°-0° 9 " ATTACHED AT EACH STILE LOCATION
24+ TYPICAL GALY. STEEL. BRACKETS AMND - 3" x 20 GA. GALV. STEEL U-BAR. ONE U-BAR PER DOOR ——  WITH (2) 1/4" X 3/4" SELF-TAPPING
CTR-CTR : MAX. SECTION HEIGHT: 24 SECTION, EXCEPT THERE ARE TWO U-BARS ON THE SCREWS.
| CLIPS ARE ATTACHED TO TRACK
10 e LOCATION WITH {2} 1/4" x 3/4" SELF=TAPPING
0" L || OR ONE 1/4" BOLT. ooy
_} R HND ST #14X5/8" SHEET METAL OPTIONAL 24" » 6" POLYPROLPYLENE SCREW ‘—
SCREWS OTY {4) ALONG | — W —n | *
SIDE ELEVATION CENTER OF EACh HINGE < SCREWS QTY (4) ALONG _I],] 1 j_ TOGETHER FRAME TYPE DSB8 OR 1/8" ACRYLIC ND HINGES OF MIN
STANDARD-LIF Th - NIER R EACH T HINEE | +—1 | WINDOW LITES AVAILABLE. ! END :
D-LIFT TRACK DETAILS 14 GA. GALV. STEEL, FASTENED WITH
N / # # 4 (4) #14 X 5/8° LG, SHT. MIL, SCREWS
18 GA. MIN. GALV. 14 GAUGE 14 GAUGE % & Y AND (4) 1/4"x3/4" SELF-TAPPING SCREWS.
18 GA. MIN. GALY. END STILE. FASTENED TO END HINGES CENTER 4
CEMTER STILE. DOCR SKIN WITH CENTER HINGES | | el et | = N . -ﬂ% (5] o
FASTEMED TO DOOR TOG-L-LOC SYSTEM. A 55 | 44 | 55 __| o) o
SKIN WITH TOG-L—-LOC fr + 0 I | | Max TYP I Max . k\\E‘L'
B SYSTEM. ; | |,  OPTIONAL ALUMINUM FULL VISION L, “2° 10 BALL SHORT-STEM STEEL'. B
| 1/4"%3/4" SELF TAPPING WINDOW LITE SECTIONS AMAILABLE (1/8" DSB) b ROLLER WITH STEEL 'BR WYCON o iR
Dh_}“ | SCREWS. OTY. (4) ALONG FULL VISION SECTIONS TO HAVE 2° X 2° X 1/8" TIRE = e F ol
= CORNERS OF EACH HINGE | 3/16™ N, MAY BE BACK— 2 iE ) 2 L-ANGLE HORIZONTAL REINFORCEMENT. L-aNGLES L |- s I &
/ STEEL JAME ERLLEE MR ATTACHED TO THE REINFORCING RIE WITH J— ‘
14 GA, GALV. eI T (2) 1/4"-20 X 5/B" HEX HEAD BOLTS AND :
CENTER HINGE TION 2-2 ’ NUTS AT EVERY HINGE LOCATION. ;
{m}srmsnj’mm SECTION 2-2 18T ton :
4) f14x5/8" ILE LD e OPTIONAL [NSULATION .
SHEET METAL i i WEID \ WO POINT (SEE MODEL EXPLANATION) z
S el Sl ; LOCKING REQ'D } e e NP g
NTER AN S S ; Tt g E:
— | ANCHOR NOTE: FIRST (BOTTOM) AMCHOR STARTING AT MO MORE WELD ToF OF AuGLE At 412 GA_ GALv. REVERSE —{ 517 MAX—— 44* TP 517 MaX |- BOTTOM ROLEER? BRACKET Df"-'lé_ﬁﬂ-ge—:
THAN HALF OF THE MAXIMUM ON-CENTER DISTANCE. HIGHEST SAME SPACING. L L _/ GALY. STEELY FASTENED WITH-(4y |
ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING. SR e DRECTLY 10 STEEL JaB. M@xX. DOOR WIDTH: 12°-2* SECTIIN: 1~ = Hl4 X 5/8° LG SHT.'MTL. SCREWS
B s P
Hi n‘“:;'mo“ LOBESET NCRETE JAMBS & = : WOOD JAMBS BOTTOM SECTION REINFORCED WITH HARK WESTERERTY, £ st FE jassos,
; Ll - 1 M 316" MIN. STEEL 38 11 42" TEMPERED ALUMINUM EXTRUSION WITH L i A
CONGHEIE CONCRETE 24w Ve Pnen e ™™ [T oEsion oF THE INTEGRAL RETAINER FOR FLEXIBLE IB) AaE LGP eey R
3/8" DiA. x 1-1,/2" 1/4%x1-1,/2" MIN. oy SCREW, 24" MaX. |SUPPORTING STRUCTURAL VINYL ASTRAGAL = . 2 PLSF.
MIN, EMBED SLEEVE ANCHOR EMBED SELF-TAPPING MAY BE BACK-FILLED SELF TAPPING 0.C, TO SECURE ELEMENTS IS THE RESPOMNSIBILITY _\ MANUFACTURING PRODUCT CODDE:
ANCHOR. WASHER INCL'D. CONCRETE ANCHOR, WITH CONCRETE, BUT SOREW 2x6 WOOD JAMB  |OF THE BUILDING EMGINEER OR MPC: C-PAN-1E458
22" MAX. O.C. 1" WASHER REQ'D. NOT REQUIRED FOR 24" MAX. O.C T wWOoo ARCHITECT OF RECORD. :
A TO SECURE 2x6 JAME 29" MAX. O.C. SELF TAPPING SCREW. - 0.C. STRUCTURE. A
T cggnxmlg. _— TO SECURE ANGLE RBEE:CI?EE Uniess Stated Otherwise | [l l:l 3535 Dﬁe@g:éev@& WINDLOAD RATING
- = Ll S0,
37 MIN. EDGE DISTANCE. 2 G EheE oisTamce. STEEL 1AM, Ealik * Neepep T (Ea0- TOLERANCES cre | gl ﬂpa] Tel. No. 513-770-4500 \'\/ 4
/ CLOPAY CORP 0 = +.031 Building Producls Comporny Fox No. 513-770-4833
BRACKET MOUNT OR CONTINUGUS BRACKET MOUNT OR CONTINUOUS ALL RIGHTS RESERVED. 00 = £.015  |DESCRIPTION: COMMERCIAL RIBBED DOOR, 12° 2° WIDTH, +/- 25 PSF DESIGN LOAD
ANGLE MOUNT TRACK FASTENED AMGLE MOUNT TRACK FASTENED 000 = £.005
LR e e e N — TO 256 §2 OR BETTER 0000 — +.001 |DRAWN BY: RJK DATE: 3/24/99 | SCALE: NOTED |pwe.
HU YELLOW PINE JAME WITH _ =
ChG SLREW PER BRAGKET FASTENED DIRECTLY - ARGLE WOUNT TRACK e s Degrees = *1/2° [CHECKED BY: MWW | DATE: 3/99  |SHEET 1 OF 1 [SIZE
ASTEN IRECTLY LAG SCREW PER BRACKET S 5 Olherwi
OR TRACK CLIP LOCATION, TO COMCRETE. T0 STEEL JaMe. OR TRACK CLIP LOCATION. Projection @_G DIMENSIONS ARE 1N INCHES. | DWG. NO.: 101856 VER: TDI

3

Z

2 I



